PAPER-III
HISTORY

Signature and Name of Invigilator

1.

2. (Signature)

J [Ny 1]2

(Signature)
(Name)

(Name)

Time : 2 '/, hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 75

o N

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

. This paper consists of seventy five multiple-choice type of

questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.
Example :
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any
place other than in the circle in the OMR Sheet, it will not be
evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

You have to return the test question booklet and Original

OMR Sheet to the invigilators at the end of the examination

compulsorily and must not carry it with you outside the

Examination Hall. You are, however, allowed to carry

duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.

~

10.
11.

qhenteat & foro fde
T T % IR AT ©H W S0 I7 TR fAfEn |
T U0 A JEER T E
I RS g W, FeE-gReeh Saet 3 St S | gee
ure A MUl UoH-GReRT WieH aoT ST Heetrad
St o ferw fe s, foraent Sita oot sraea Sl
(i) vA-gRes @ieH % T 39% %o UST W ol TS
H A B FE o | Gl g AT fo Rrew-Hiet i
TR SR 7w |
(i) ®a¥ g W B FEIER ww-gfesr & g qer
gﬁﬁmﬁgﬁmaﬁ%ﬁ%a@
| gragut gt /0 W B AT gERT 3
T T A "WiREe § 7 A ot R oft ger @
Afequt gfeswt wieR T F qer SH T 3@
I WE W wE uvA-gREwT o o |
9% fow ot diw fame o S | Sa% A |
Al MUH Fy-GReART 0| ot AR S T & St
sfafa v fean |
(iil) 79 Sirar & 91 OMR U5 i FH G&AT 38 T9A-JReieht
W 3ifehd T |
TG U9 & T IR ST 96T (A), (B), (C) T« (D) &3
T E | TR TE IR b I B U A R BIeAT AT €
N Yo
IR
eIt (C) T8 W & |
Tl % ST Theel T3 YReeht % = o T OMR U5 IT
& 3ifeh e € 1 3T 3T OMR Tk R {33 7 3t o et
%Wﬁa:wﬂwwﬁﬁﬁmaﬂﬁ%ﬂ%mm
|
3T 5 T e W AHYEE uE |
=aT M (Rough Work) 30 IReTshT & 31 T8 W & |
I 3T OMR T W 990 ®IM & fefren 1o 9, AeA
TR, B T AT e of UG foe S s gewe 8
T, 3ifehd A & ITET WG WO T VAN A §, AT B
3T 3T WY T WA W €, of W % o s
Hifte R ST g € |
IR Tl T B W WeA-ITH W6 § OMR U5
a1 HERa i TIeHT Tevas & 3R Wil THfd & 1%
Y U T WIS MET § el A ol ST | gTeieh 3T
jﬁm&n;miﬁrWOMRwﬁgﬁéwﬁaﬁmﬁw
|
FHaA AVFA A @ES U H A T@EA HE
Torgt oft TP BT WU (Fergpeiey) AT AR ol AT BT
warT afde ¥

. T IR % fIU HIE 3 wre e Ay |

J-06-12

P.T.O.



HISTORY
PAPER - 11I

Note : This paper contains seventy five (75) objective type questions of two (2) marks
each. All questions are compulsory.

Match List — I (Archaeological Site)
with List — II (Identification) and
select the correct answer with the
help of the code given below :

List -1 List - 1I
(Identification)
(Archaeological
Site)
(a) Bagore (i) Chalcolithic
site of Madhya
Pradesh

(b) Brahmagiri (i) Megalithic site
of Karnataka

(c) Maheshwara (iii) Mesolithic site
of Rajasthan

(d) Tekkalakota (iv) Neolithic site
of Karnataka

Codes :

(@ (b (© (@
A) O @G Gv) (i)
B) @Gi) () @ @v)
© Gv) @Gy (@) @
D) ) (@ (@v) (i)

Which proto-historic site has yielded
the evidence of threads of raw silk ?

(A) Ahar

(B) Inamgaon
(C) Navadatoli
(D) Nevasa

Paper-I11

Arrange the following Indologists in
the chronological order and select
the correct answer with the help of
the code given below :

(i)  William Jones

(i) Alexander Cunningham

(iii)) James Burgess

(iv) James Fergusson

Codes :

A @O Gy @Gv) (i)
B) Gv) @ a) (i)
© @ av) (@1 (i)
D) G aGv) @O i)
Match List — I (Initiator/Writer) with
List — II (Journal/Book) and select

the correct answer with the help of
the code given below :

List -1 List - I1
(Initiator/Writer) (Journal/Book)

(a) William Jones (i) Indian

Antiquary
(b) James (i1) The Stupa
Fergusson of Bharhut

(c) Alexander (ii1) Asiatic
Cunningham Researches

(d) James Burgess (iv) Archaeology
in India

Codes :
(@ () () (d
(A) @) aGv) () @)
B) a) (@ (@) 3Gv)
© Gv) ) @ i)
D) @O a) Gv) (a6
J-06-12
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Match List — I (Vedic rivers) with
List — II (Present counterparts) and
select the correct answer with the
help of the code given below :

List -1 List - II
(Vedic Rivers) (Present
Counterparts)
(a) Vipas (1) Jhelum
(b) Parusni (i) Ravi
(c) Vitasta (ii1) Beas

(d) Sutudri
Codes :
@ ® (@© @
(A) i) @G) @ Gv)
B) @) @Gv) @ai) @)
© (@ @i 3[v) (D)
(D) @Gi) @v) @) @

(iv) Sutlej

The Boghaz Keui inscription from
Asia Minor refers to the following
Vedic deities :

(A) Indra, Varuna, Agni and Surya
(B) Indra, Varuna, Mitra and Agni
(C) Indra, Mitra, Varuna and

Nasatyas

(D) Indra,
Nasatyas

Mitra, Dyuas and

To which of the following tribes did
King Sudasa, described in the
Rgveda as having defeated ten Kings,

belong ?

(A) Anu
(B) Druhyu
(C) Tritsu
(D) Yadu

Paper-I11

10.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : The Greek historian
Herodotus tells us that ‘India
was the twentieth and most
prosperous satrapy (province)
of the Persian empire’.

Reason (R) By the time of
Alexander’s invasion (327-326
B.C.) all the Persian impact on
India had become non-existent.

In the context of the above two
statements, which one of the
following is correct ?

(A) Both (A) and (R) are true, and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Who had made the
statement ?

following

‘Bhagavapi Khatrio ahampi khatrio’
(Bhagawan  [Buddha] was a
Kshatriya I too am a kshatriya).

(A) Bimbisara
(B) Prasenjit
(C) Ajatasatru
(D) SiSunaga

Which one of the following Sangam
poets has mentioned about the
hoarded wealth of the rulers of the
Nanda dynasty ?

(A) Avvaiyar
(B) Mamulanar
(C) Parnar
(D) Ilango Adigal
J-06-12
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11.

12.

Match List — 1 (Officer) with
List — IT (Department) and select the
correct answer with the help of the
codes given below :

List - I List — 11
(Officer) (Department)
(a) Sannidhata (1) Incharge of
revenue
collection

(b) Samaharta (i1) Incharge of
commerce

department

(c) Panyadhaksa  (jjj) Incharge of

the harem
guards

(d) Antaravarnsika (iv) Incharge of

the treasury

Codes :

@ b)) © (@
(A G @ Gv) (i)
B) @Gv) @ i) (i)
© Gv)y @ (@) (i)
(D) @ i) @>Gv) (i)

Match List — I (Ruler) with List — II
(Associated person) and select the
correct answer with the help of the
codes given below :

List -1 List — 11
(Ruler) (Associated
person)

(a) Bimbisara
(b) Bindusara
(c) Ajatasatru
(d) Gondopharnes

Codes :

@ b)) (@© (@
(A) (i) @) @>dv) (i)
B) Gy @) @ Gv)
(C) (@v) (@) aGi) (@
(D) @) @) Gv) (@)

(i) Deimachus
(i1) St. Thomas
(ii1) Jivaka

(iv) Vassakara

Paper-I11

13.

14.

It is generally accepted that a special

feature of the period between 200

B.C. and 300 A.D. is the increase in

external trade. Which of the following

factors did not assist in the increase ?

(A) From a political point of view
India had become one.

(B) The Mauryas had constructed
various roads and introduced
uniform system of
administration and this helped
in increase in trade.

(C) Indo-Greek rulers helped by
establishing close relations
with  countries  of  the
Mediterranean and West Asia.

(D) The Saka, Parthian and Kusana
rulers helped by establishing
close ties with Central Asian
rulers.

Match List — I (Ancient Monument)
with List — II (Characteristic feature)
and select the correct answer with
the help of the codes given below :

List -1 List - I1
(Ancient (Characteristic
Monument) feature)
(a) Saifichi (1) Tallest Buddhist
Stupa structure

(b) Nalanda (ii) Represents
Hindu, Buddhist
and Jaina
religions

(iii) Contained the
relics of Sariputra
and
Maudgalyayana

(iv) Rock-cut Chaitya-
hall with circular
plan

(¢) Junnar

(d) Ellora

Codes :
@ b)) © (@
(A) () @ @(v) (@)
B) G @) @ (Gv)
© @) @Gy Gv) @
D) @ 3dv) (i) (i)
J-06-12



11. I (3tasrn) ot g1 (fowmn) &

Tl ST den A= 53 U %2 ot
FEIAT § W&l I 1 TIT I
e -1 ~1I
(rferemTat) G i)
(a) QF=TETEr (i) H-Gue foaum
T T
(b) TR (i) o fommT
T T
(c) HuaTETRT (iii) T=EE &
TS T
T
(d) FERE (iv) IO
ESS =)
FT

@@ b)) © (@
A G @O Gv) (i)
B) @Gv) @ @>i) (i)
© Gv @® (> (i)
D) @© @) @Gv) ()

12. -1 @) H OgA- (S
=) ¥ GAferd SIS o = 53 o
FE H TEEA G T IW B T
T :

e -1

= - 10
(3TTE) (raIf-are o)
(a) foferar (i) A
(b) forgar (i) < om
(c) 3TSITAeT (iii) Sfras®
(d) TUSIET (iv) TEHT

%< :

@@ b)) © (@

A) @) @  Gv) (D)

B) @) @) @ ()

© Gav) () @G (@)

D) @G G Gv) @
J-06-12

13. 200 S 9 ¥ 300 §. & LI H e bl
T TR foRett SR @t g »t U
THR fomaT ST & | 7 R | %
FHRUT 3T g H TeIH Tel gt o1 ?
(A) HRA THITTH ge | T & T

o |

(B) T wEHi 9 faft= Tewhi &
T e 3R WHE URESE
T TR Heh AR B I
T WETgar & o |

(C) 3USI-ZAM St 7 ufverdt ufvrr
3R IR I ¥ A
T TfUd FA § gedn fea
o |

(D) I, UgeTd UG FHUNOT IRl A
e TR & <9 9 e e
T A § GedrT fear o |

14. -1 @EE ®\RE) & gA-1I (7=
faeioam @ gafea #ife qor J &
TT F H FEIA | Tl I H =TI

T
e -1 =t - 11

(U TRE)  (AvaTg 9 favree)

(a) AT (1) TS A
EssirCa
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(@ () () (d

A) @) @ Gv) (D)

B) ) @) @O @)

© @ Gy Gv) @)

D) @O av) @) (36
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15.

16.

17.

18.

Which one of the following is not
correctly matched ?

(Ruler) (Figure
shown on his

coin)

(A) Kumaraguptal — Chakra-

purusa

(B) Kaniska — Ardokso
(C) Agatho cles — Balarama

(D) Ksatrapa — Pallas

Rajuvula

Match List — I (Ancient City) with
List — II (Modern Representative)
and select the correct answer with
the help of the codes given below :

List - I List - 11
(Ancient City) (Modern
Representative)

(a) Dasapura (1) Halebid
(b) Dvarasamudra (ii) Mandsor
(c) Madhyamika (iii) Nagari

(d) Samapa (iv) Jaugada
Codes :
(@ () () ()

A @@ @ > 3(v)
B) (@) (Gv) () (i)
©) @) @) @@ @v)
D) @) @) Gv) (@)

Who among the following assumed
the title of ‘Dharmamaharaja’ which
was justified by the performance of
numerous Vedic sacrifices incuding
the A§vamedha ?

(A) Pusyamitra

(B) Sarvatata

(C) Samudragupta

(D) Pravarasena I

The seat of third Sangam of Tamil
poets was located at

(A) Uraiyur

(B) Madura
(C) Tanjore
(D) Kancht

Paper-I11

19.

20.

21.

22,

Which one of the following Indian
rulers had donated five villages to a
Vihara built at Nalanda by Sailendra

King Sri Balaputra ?
(A) Kumaragupta I
(B) Harsa

(C) Devapala
(D) Bhaskaravarman

The rulers of which dynasty of the
Deccan have been described by the
Arab writers as the four great
sovereigns of the world ?

(A) Chalukyas of Vatapi

(B) Chalukyas of Kalyant

(C) Mauryas of Konkan
(D) Rastrakitas of Manyakheta

Which one of the following is not
correctly matched ?

(A) Rajasekhara —  Viddhasala-
bhanjika

(B) Sri Harsa —  Naisadhiya
Charita

(C) Mahendra- -  Kavirgjamarga

varman

(D) Sudraka —  Mrichcha-

katikam

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : The growth of regional
politics in early medieval India
was accompanied by the
composition of royal biographies
by court poets.

Reason (R) : Sandhyakaranandin’s
Ramacharita is written in slesa
style and simultaneously tells
the story of the epic hero Rama
and the Pala King Ramapala.

In the context of the above two

statements, which one of the

following is correct ?

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

J-06-12



15. frfafea & @ b 9 gafd T8 & 2
(STTEH) (9% faah W
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(A) FARTE FoF — R
(B) HiTeh — 3RS
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16. -1 (IEH TR) Bt GaA-I1 (3R
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T ;
= -1 =it - 11
(R TR) (i ufatafi)
(a) T (i) ecifas
(b) RIS (i) A=ER
(c) TeATHSR (iii) TR
(d) qHT (iv) ST
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@ b)) © (@
(A ) @@ (i) (Gv)
B) @) @Gv) @) (i)
©) (i) (i) @ 3Gv)
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(C) T=IR
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19.

20.

21.

22,

Vel W S qOUT FRT AT |
i e foer & for frefefiaa & 9
TF9 YR M9 3 UM U g g9 o
g ar o

(A) PHRTE gaHq

(B) &

(C) U

(D) HTehTe

ORT TEH A IRIT & TR TS Hf
O AR 3 TR Qe IM9ehl § i & 2
(A) =Tl % =Tl
(B) it o et
(C) IV & T
(D) WIEEE o IZHS

fr=fafed § 9 S e gated T&l & 2
(A)TERER —  Tagemerissien
(B) &t &9 —  AudE 9ig

(C) Megade  —  SHiaRSEnT

(D) ¥ - TEHCH

I 3 Feed g MU € U @ wE

(A) & 4T & 3 Tl HRIT (R)

FUA (A) : I HEAHA H ST I
% ITF & QY- AR i
R TR H S fees @
A TIRET §eT |

HROUT (R) : TAHRR] T AR
o Yot 9 ferar & e
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oo & |

SR < et o @<y 4 e

o F B TE &2

(A) (A) 3T (R) S Tl & T (A)
! GEl AT (R) © |

(B) (A) ¥R (R) 3 @ &, fF
(A) =i T&l =T (R) T8l & |

(C) (A) T E, fofg (R) ToId & |

(D) (A) T &, [ (R) W& |

Paper-I11




23.

24.

25.

26.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : The Sultans of
Delhi managed to consolidate
an empire comprising a large
part of India with their military
power.

Reason (R) : The main feature of
the Delhi Sultanate was that
the sultans based their military
power with military elite
bound together by Islam and
certain tribal affinities.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are false.

(C©) (A)isincorrect, but (R) is true.

(D) (A)is correct, but (R) is false.

The first reference of ‘Turkan-i-
Chihalgani’ has been made in

(A) Tabgat-i-Nasiri
(B) Futuh-us-Salatin
(C) Kitabur Rehla

(D) Khazain-ul-Futuh

Which Mongol general defeated
Alauddin Khalji ?

(A) Qadar
(B) Qutlugh Khwaja
(C) Targi

(D) Igbalmand

Diwan-i-Khalsa was responsible to
look after the

(A) Land under continuous
cultivation

(B) Revenue free land granted as
rewards

(C) Land under the direct control
of the State

(D) Fallow land

Paper-I11
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27.

28.

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List - I1
(a) Malgujar (i) Hereditary
Muslim
aristocrats
(b) Mufti (i1) Local Muslim
Association

(¢) Anjuman (iii) Muslim
learned person
expert in
religious law

(d) Khanazad (iv) Landholding
primary
zamindar

Codes :

@ b © @

(A) @Gv) (i) @G (@

B) @) (Gv) @) (@)

© @) @Gv) @) @

D) @ @) @) @(4v)

Match List — I with List — II and

select the correct answer from the
codes given below :

List - I List - 1I

(a) Hundi (1) Mughal Imperial
Order

(b) Dastak (ii) Bill of
Exchange

(c) Sanad (iii) Advance paid to
the primary
producers

(d) Dadani (iv) Permit issued to
the European
traders for the
purpose of tax
exemption
Codes :

@ (b)) (© (@

(A) @) @) 3@ ()
B) i) ) Gv) (@)
© Gy Gv) @@ (i)

D) i) Gv) @@ (D)
J-06-12



23. 99 T #F fu o €, MH 9w

24.

25.

26.

MTHT (A) 3R T T (R) T

AtuHU (A) : ool & Goamr 4 7o
T v ¥ 9RA & T §g 90
T Tk fHaT |

% (R) : oot Godad @i 7T fasior
7§ of fF SeH T AR TS
aMfcardl Gay T s A
AT T =l AU A Wt
T YR ST |

S A B UleT AR A KT T

P ¥ Tel 3T 1 T DT :

£ T

(A)

(B)

©)

(D)

(A) 3R (R) T LT € |
(A) 3T (R) T TTord € |
(A) T €, Al (R) TR T |
(A) & &, S (R) TeAdT & |

ThH-T-FReTHY H SeviE  fepe
qag Teet oAt 2

(A) TEHA-T-ANTT |

(B) TE-3Tg-TeAla o

(C) TopameR Eom o

(D) THRA-3A-FqE |

T TieT ST TSI faert
gaaTanr ?

(A) FR

(B)  eferTT TS

(C) wl

(D) THATAHT

HeH-T-Ererdr FEfated § 9 59 s

& 3@ & T TR o 2

(A) T FiT 9

(B) g@?%@ﬁﬁﬁﬂﬁ@%

(C) TT & 9y Fo=or § o ol
qr

(D) SR W

J-06-12
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27. g1 & GE-I 9 GEAT Fi 3R

28.

1 e @ TEl TR T =TI HIT
T -1 = - 10
(a) AIFSIR (i)  STeeTes giem
SIS

(b) T (i) T Hfe
ESESZI

(iii) e fag™ i
uifhes et &
forewst Bt &

(iv) 9feRe s
SRR

(c) g

(d) @IS

T4

(=N

@@ b © (@
(v) @) @) 1)
B) @) Gv) @ (D)
© @ Gv) @G (@)
D © (@) (@) ()

G-I & Gali-I1 9 gaferd Hie 3T
7 e T TEl ST A T=H AT

T -1 = - 11

(a) ES (i) T WD Y

(b) TTF (i) oI

(c) T % (i) Ve ScTeeht
EAEERE RIS
TAT A 9

(iv) I AT H
PRISCECRCl
T AT
i SR R S
qreAl AR

(A)

(d) T&

@ b © (@

(i) @) @ 3Gv)

(i) @G @Gv) (1)

(i) @Gv) (@) (i)

(i) @Gv) (@) (i)
Paper-I11
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29.

30.

31.

32.

When did the nine cusped arches
were for the first time wused in
Muslim architecture in India ?

(A) Buildings of Sikandar Lodi

(B) Buildings of Sher Shah

(C) Buildings of Nur Jahan

(D) Buildings of Shah Jahan

Who amongst the following

commented on the rule of the First
Afghan Empire in India that ‘there
was an opportunity to establish in
India the constitutional monarchy
but the dissensions amongst the
Afghan nobles let the opportunity
pass away’ ?

(A) K.A. Nizami

(B) Peter Jackson

(C) R.P. Tripathi

(D) John F. Richards

Which one of the following

statements is not correct about

Alauddin Khalji ?

(A) He established the department
called ‘Diwan-i-Kohi’

(B) Ziyauddin Barni criticizes
Alauddin’s taxation policy

(C) Malik Fakhruddin, the Kotwal
was loyal to him

(D) His son Qutbuddin Mubarak
Khalji declared himself the
‘Caliph’

The title of ‘Mujaddid’ was

conferred to which Mughal Emperor
by the contemporary historians ?

(A) Humayun
(B) Jahangir
(C) Shah Jahan
(D) Aurangzeb

Paper-I11
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33.

34.

3S.

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List - I1
(a) Ramanuja (i)  Pushti Marg
(b) Chaitanya (ii) Nirguna Bhakti
(c¢) Vallabh- (iii) Vishitadvaita

acharya Philosophy
(d) Nanak (iv) Gaudiya

Vaishnavism
Codes :
@ © © @
(A) (i) @) (@av) (@)
B) (@) @ (@(v) (i)
(©) Gv) @) (@) (i)
(D) (@) @Gv) @ (@)

Match List — I with List — II and
select the correct answer from the
codes given below :
List -1 List - 1I
(a) Qadiriya (i) Shaikh
Order Badruddin
Samarkhandi
(b) Nagsbandiah (ii) Shah
Order Abdullah
(c) Firdausi Order (iii) Khwaja Baqi
Billah
(d) Shuttari Order (iv) Shah
Nayamatullah
Codes :
@ ® © @
A (1 @) @) (Gv)
(B) (Gy) Gi) 1) (i)
(©) () @) @Gv) (@)
D) Gv) @O Q) (i)

Match List — I with List — II and
select the correct answer from the
codes given below :
List -1 List - 11
(a) Masand (i) A deputy of
the Sikh Guru
(b) Sahajdari (i1) Non-Khalsa
Sikhs
(c) Sardeshmukhi (iii) A term for
Maratha
revenue
demand
(d) Dal Khalsa (iv) Sikh religious
organization
Codes :
@ ® © @
A) () () (i) (i)
B) Gy @ (v) (i)
(©) @Gy @v) @) (i)
D) @ @) @) av)
J-06-12



29.

30.

31.

32.

IRA % Rt ool | At AIR
Tesl 1 T Ueel! 91 el fRar T
o 9

(A)
(B)
©
D)

TSy st & o |
IRIE & qo o
TRl & el |
IESTET o el |

Fefafea § ¥ 5 9Rd % uew
AR =T & oy H I8 fewon =t
of fF “9YRg | Wifalus ToTas wmad
T BT GANT T, AT 3THT AT
I Y A A o HROT I HIANT A
W™

(A) . T =

(B) Ui SihE

(C) 2wl et

(D) ¥ U REew

FATSEN fgeAstt & gy § fFAterad §
T B T HU TEl Tél ¢ 2

(A) ST “TAF-T-HED AHE T
! TG ot &t |

SasE s 3 SYesER Wl
Y N Sl STATAT b & |
FAATT  AfeTh HEEEH  STHT
THERR 4T |

3T 7 FaRH AR fEerstt =
fearen |

(B)

©

D)

THFAN ITRTHHRT & R Hd e
TS T HSIEE i U < 7T of 2
(A) T4

(B) SRHIR

(C) IESTer

(D) TS

J-06-12
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33.

34.

3s.

ga“rlﬁga“rnﬁgﬁfmﬁfmaﬁt

17 e ¥ T& W H =TI
g - 11

@ ® (@© @
Gii) (i) @Gv) ()
G) (@) (Gv) (i)
(v) @) G) (i)
Gii) Gv) G) (i)
-1 ® G-Il § gAfed Hie X
=7 e T Tl TR A1 72T BT :
T -1 =t - 11
(a) FIGRATTRE (i) @ agem
TR
(b) FeFTETT (ii) e 3HsgeeTe
YR
(c) TR TUR™ (i) ST St
gyl
(d) YORI @R (iv) ¥E TS
(@ ) () (@
A) (@) () 3Gi) @)
(B) (v) (i) (@) (i)
(©) () @) @av) (@)
D) Gv) @O Q) (i)
A1 o A1l § gafed S X
=7 e T Tl TR A1 72T I :
e -1 =t - 11
(a) 7EE () ToFE e
TEEH
(b) W (i) TR-@rerer e
(c) TRIE! (i) TSN IS i
HIT o fo1q et

I
(iv) Targ aifies
e

(d) Set @retdn

%< :

[N

@ () (¢ ()

A () @Gy @) (@1v)

B) @) @ av) (i)

© @) @v) @) i)

D) @ G G av)
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36.

37.

38.

39.

40.

What new stylistic feature is found

in the Tomb of Khan-i-Jahan

Telangani built at Delhi under the

Sultans of Delhi ?

(A) Use of white marble against
red sand stone

(B) True Arch

(C) Double Dome

(D) Octagonal in planning

Which styles of the Sultanate

painting paved the way in the
foundation of the Mughal style of
painting ?
(A) Chaurapanchasika,
Chanda and Indo-Persian
(B) Pala, Kashmiri and Laur Chanda
(C) Chaurpanchasika, Kashmiri
(D)

Laur

and Indo-Persian
Indo-Persian, Pala and Kashmiri

Consider the following statements

and point out the incorrect one :

(A) Babur’s Memoirs provide a
flood of light on contemporary

affairs.

(B) It exhibits Babur’s interest in
nature.

(C) It provides no information
about Farghana, Samargand

and Kabul where he spent time.
(D) He throws light on his

contemporaries, their good and

bad points, including himself.

Tulsidas was the author of which
book ?

(A) Kavitawali

(B) Ramacharitamanas

(C) Gitawali

(D) All of the above

Who among
considered as
‘Varkari’ sect ?
(A) Eknath
(B) Tukaram
(C) Namdeva
(D) Jnanesvara

the
the

following is
founder of

Paper-I11
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41.

42.

43.

44.

Consider the following statements in
the context of organization of
Mughal ruling class during the 17"
century and select the correct answer
from the options given below :
(A) An aspect of the composite
ruling class was the steady
promotion of a small number
of members belonging to the
administrative services.
These members were generally
drawn from Khatri and
Kayastha castes.
(C) A few Brahmins could also be
found amongst this ruling class.
(D) All of the above.

Which one of the following Mughal
painters was a caricaturist ?

(A) Basawan

(B) Manohar

(C) Miskin

(D) Abul Hasan

Shah Jahan fought the Battle of
Kartarpur against

(A) Guru Hargovind Singh

(B) Guru Har Kishan

(©) Guru Har Rai

(D) Guru Tegh Bahadur

(B)

Given below are two statements

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Recurring peasant
revolts in the late 17" and
early 18" centuries are
believed to have been a major
cause of the decline of Mughal
Empire.

Reason (R) : Regional sentiments
against a centralized Mughal
State had not been there.

In the context of the above two

statements, which one of the

following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A).
(A) is true, but (R) is false.
(A) is false, but (R) is true.

J-06-12
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36.

37.

38.

39.

40.

oot & oMl o aaehe § Koot §

FAT T GH-T-STel-aelTHT & qehe |

T 7€ AT TaRIoaTd oTg e € 2

(A) W I TR W I%E GIERAT
EAR eI

(B) Tl Hedw

(C) =& =R

(D) TSI H TSI

good famsen @ f6g vielt 7 e

el Fosrhen & = & ferw At

TeTEd T & 2

(A) TRUARS, TR G R TSI
BIHpE]

(B) U, SHYHRT T T =T

(C) <Rd=yTeh, HTHERI 3R 0Ll -
BlHEE)

(D) 3USI-uf¥EM, et 3R HIHRY

fafafad At W faer ®ife 3iie

TTeTd Y i Fafed whifsTe

(A) TR & SeAgd B GHERAH Hat

I YHTST STl T € |

TAY TR o Ui STeR i i B

TEI9Td e T Y |

THH EAT GRS 3R HA

IR § T TSR &l I T T

STET S YU WHY foqmar o |

SR ST SR A Al I THTT

T |

TR iF T qdh & T & 2

(A) HiadEe &

(B) THaARTHEMH %

(C) et &

(D) STHH &9 F

ffafea § 9 60 R’ T9IRE &

HEITTeR /T ST € 2

(A) THTI

(B) qHR™

(C) Tv=a

(D) FHvER

(B)

©

D)
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41.

42.

43.

44.

178 TATERT | el I N % W

& T H fEfeted wEa W eEw

HIT R A KU T foskeat ¥ @@

I T T HIT

(A) |EEs IR T B TE TE]
UM {er et & TSl i Biel
T T T G- UT=1a o |

(B) T TS WM WHT 3R HEe
e A e M g |

(C) F5 T of 3 wEh O H
e & |

(D) U Tl |

frefafea & @ &9 41 e EeR
=T Faehr o1 ?

(A) oG

(B) WY

(C) Tl

(D) 39T BEA

STt o ARG 1 JF AST o
(A) TG R e o faes
(B) % & & faeg

(C) & WA & [a5g

(D) % T TG F [a65.

T 3w RT T E, S 9 UE

MHT (A) & 3R T T (R) €

AfTHeT (A) : 1790 TdTET & 3 o
3T 183 Tl o Y& | fepamr
% ISR fa5® & 98 § TF§
fovam fovar ST € & @ g
HIYTST & U T T HROT T |

qF (R) : Haipd et T & @
ST e T8l o |

UG T el % wET U, Fretared §

B G HU TR 22

(A) (A) 3R (R) 31 Tl € 31 (R),

(A) T T TEEHT & |

(A) 3T (R) AT Tl €, cAfep

(R), (A) I &l TLEIHT el & |

(A) & &, et (R) T € |

(A) T €, Wfh T (R) FRI € |
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45.

46.

47.

48.

Which one of the following centre
was not a Dutch commercial
establishment in India ?

(A) Masulipatam

(B) Karikal

(C) Hugli

(D) Balasore

Name the English Officer who
obtained Madras on lease in 1639
from the ruler of Chandragiri.

(A) Sir Thomas Roe

(B) Francis Day

(C) Sir George Oxenden

(D) Sir John Child

Match List — I with List — II and
select the correct answer from the
codes given below the lists :

List -1 List — II
(a) Second (1) Treaty of
Carnatic War Paris

(b) Third Anglo- (i1) Treaty of

Mysore War Aixha
Chapelle
(c) Second (ii1) Treaty of
Anglo- Srirangapatnam
Maratha War
(d) Third (iv) Treaty of
Carnatic War Bassein
Codes :
@ (b (© (@
(A) (i) @) (@Gv) (@)
B) ) (@) () @(Gv)
© @© av) @a) (i)
D) G @G Gv) @)
Which one of the following
provisions was not part of the
Subsidiary Alliance ?

(A) The State has to keep British
force under the command of
English General.

The State should take prior
permission from the Company
for waging of war or making
peace with another State.

The State should not have
relation with any European
power except English East
India Company.

The State can go for adoption
in the case of not having
natural heir.

(B)

©

D)
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49.

50.

S1.

Name the Governor General who
adopted a  policy of the
Europeanisation of bureaucracy and
an exclusion of Indians from higher
posts.

(A) Warren Hastings
(B) Cornwallis

(C) Wellesley

(D) Dalhousie

Given below are two statements, one
labelled as Assertion (A) and other

labelled as Reason (R) :
Assertion (A) The British
introduced  different  land

revenue tenures in different
parts of India.

Reason (R) : It led to the
impoverishment of Indian
peasantry.

In the context of above two

statements, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) (A)is correct, but (R) is false.

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are correct

and (R) 1is the
explanation of (A).

correct

Curzon-Kitchner Controversy of
1904-05 is related to

(A) Partition of Bengal

(B) Abolition of military member
in the Viceroy’s Council

(C) Direct recruitment of police
force

(D) Autonomy of the Calcutta

University
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45.

46.

47.

48.

FeAffEd 5 | &9 91 %% 99 9 9
OISR g el o 2
(A) wHfergen
(B) et
(C) gt
(D)
39 U YR BT 9 oq, a1
TR & 99 | I9 1639 T TS i
T W forar ar
(A) WIEE
(B) WEET
(©) ww—‘raﬂ%mq
(D) WS AEes
gEr -1 B gi-11 § GAferd e X
9o T T Fe ¥ W SR A AT
HIfT
e -1 =t - 11
(a) T5d@ e — (i) 9@ = T
g
(b) FEE AT — (ii) TR A
U gE
(c) Tga@ e - — (iii) &RTUeH i
e g5 Ty
(d) FAT  FARH — (iv) ata =i G
g
E T
@ () (© @
(A) (i) @) Gv) (@)
B) G @ Gi) 3(v)
© @) (@Gv) Gi) (ii)
D) Gi) @i Gv) (@)
frAfafed & @ 9 T TeuE qeEs
HfY o1 AT TR & 2
(A) Tl B U STRA & FAF H
ST el TET B o |
TS Fl 3T [T 6 1T Jg HA
A1 9T FA & feT oAt @ gd
3T qHf o B |
TS SUST ol 352 fean St &
foamar fwdt gufrem wife & @
Ty & W@ B |
g fFl T w1 e
ST &l &1, I8 g% — U0l
FLHHATE |

(B)

©

D)
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49.

50.

51.

39 T SRS @1 A TqRey, SEA
FIHTLET BT JAATFHIT 3R S &I T
qRAET Sl IMH T HA Bl A TS
o |

(A) TR e
(B) HHaTed
(C) doget
(D) ToRISH

T U KT U E, W ¥ UH

3T (A) 3R T TH (R) §

AfvmeT (A) @ 3UST = 9RA & 37T
T AT | TS W A
3TETT 37afe 1] f off |

& (R) : 389 9T fHam et &
|

ITYE I FA W fowmawg H

frefofea § 9 o9 9@ € 2

He

(A)

(A) 3T (R) I W& €, b (R),
(A) T &l TLIHT el & |

(A) W& g, Afee (R) T € |
(A) 3R (R) THI T4 & |

(A) 3R (R) 31 @&l &, 31T (R)
(A) FT T&l T § |

(B)
©
D)

Fo- T H TY 1904-05 T foemg
frefofea § 9 foog @ Gefua € 2

(A) ST b o

(B) I i URSg H dfHEH G5
1 U FATT FEAT

QT et i et ot
T [avataTerd = T

©
D)
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52.

53.

54.

5S.

Match List — I with List — II and
select the correct answer from the
codes given below the lists :

List -1 List — 11
(a) Punjab Land (i) 1900
Alienation Act
(b) Central (i) 1879
Provinces Land
Alienation Act
(c) North West (iii) 1904
Provinces Land
Alienation Act
(d) Deccan @iv) 1916
Agricultural
Relief Act
Codes :
@ (®d (© @
(A) () @) @[v) (D)
B) ) @ ai) Gv)
©) (i) @Gv) @) @
D) Gv) Gy (@ (i)

Name the ruler who was deposed in
1875 on charges of ‘gross misrule’.

(A) Gangasingh of Bikaner

(B) Bupendranath Singh of Patiala

(C) Krishna Raja Wadiar of
Mysore

(D) Malhar Rao Gaikwad of
Baroda

The first English Evening Daily
Newspaper from Madras was

(A) The Madras Mail

(B) The Madras Chronicle

(C) The Madras Herald

(D) The Madras Standard

“Forget not that the lower classes,
the ignorant, the poor, the illiterate,
the cobbler, the sweeper are thy flesh
and blood, thy brothers” — These
words are related to

(A) Jyotiba Phule

(B) Mahatma Gandhi
(C) B.R. Ambedkar

(D) Swami Vivekananda

Paper-I11
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6.

57.

58.

“The Indian Rebellion of 1857 was
not one movement .... it was many”
— The above statement has been
made by

(A) S.N. Sen

(B) R.C. Majumdar
(C) C.A.Bayly

(D) Eric Stokes

Match List — I with List — II and
select the correct answer from the
codes given below the lists :

List -1 List - II
(a) Narayan Guru (i) Rising
Sun
(b) Tripuraneni (i1) Jati
Ramaswamy Mimamsa
Choudary
(c) Venkataraylu (iii) Shambuka
Naidu Vadha
(d) Sridharula (iv) Veda
Naidu Samaj
Codes :
@ b © @
(A) @) @@ Gav) (ai)
B) @G @) @G 3Gv)
© @ (Gv) @) (@)
D) @ ) @ 3(4v)
Select the correct answer from the
codes given below about the
chronological sequence of the
movements :
(i) Kuka Movement
(i) 'Wahabi Movement
(ii1) Mundas Revolt
(iv) Moplah Peasant Revolt
Codes :
A () @ > 3(4v)
B) @ @) @) 3(Gv)
© @) @ av) (ai)
D) @ ) @ 3(v)
J-06-12



52,

53.

54.

5S.

-1 & g1l ¥ gafed sifse iR

= & T g | KU W He | T IW

T TIT BT

T -1

(a) O i TfeAtaem (i)
arfufraw

(b) 3 i wf
UG el Bisp)

(c) ST UiT=m wida
W Tferee
Aty

(d) SR T T
arfufraw

E T

(A)
(B)
©
D)

el - 11
1900

(1) 1879

(i) 1904

(iv) 1916

@ ) © @

G) (i) @Gv) (i)

i) @ @i @(1v)

(i) Gv) @G @

(v) G (@) (i)

39 M9 FH T9 FaE0, 9 a9 1875
T ORI FIMEA & STRT & HROT g2
T |

(A) TMEE, ST

(B) Uy i, ulearen

(C) T TS AfeIR, BT

(D) AR U TMHhATS, SIS

TS | TRIEI R T W STt A
e TETERTS 5 AW

(A) T U HA

(B) T WA SitAehet

(C) T U3 o

(D) T UG ¥Ie

“Fg T ol T FeT o, suferdr, T,
AfoTierely, TN, WohTSSRHT W off STTueh!
i T SR AT E, o SIS A E 7 T
g fhE R 4 2

(A)  Sifefa et

(B) HeTcAT et

(C) .3 3eTH

(D) @t T
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56.

57.

S8.

“1857 1 Tosie U TRIeH &l oT.... F
wE oGO 4 I SugE e
FeteAtEd 5 & forsehr o 2

(A) TETA A

(B) SRH. ASHRR

(C) wT sl

(D) INF =

-1 B G-Il ¥ GAfT HiTT SR
A e § fow e e @ Gd S
ama%faq:
T -1 e - 11
TR

(a) TR TE i)
g4

(b) TR THEE (i) S
e’y '

Hrerar
(c) SheXEe] g (iii) ¥h A
(d) duEenTEg (iv) &% S
E T
@ () (© (@
(A) @) () (v (i)
B) (i) (i) Q) (v
© @) Gv) Gi) (i)
D) (i) () G ()

i AT & HIotshy & aX |
F= KT U P ¥ W@ IW Fow
HIT

(i) N IR

(i) STETE AR

(iii) T fosE

(iv) e fam foste

[ TAN

A G) @
B) (@@ (i) (D)
© G @ v
D) @) G @)

(i)  (iv)
(iv)
(iii)
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59. Select the correct answer from the
codes given below about the
chronological sequence of the Act
passed :

(i) Brahmo Marriage Act

(i1)) Sarada Act

(iii)) Hindu Widow’s Re-marriage
Act

(iv) Age of Consent Bill

Codes :

(A) () @) av) (@)

B) @) @@ @) @)

© Gv) @) @) (@)

(D) i) @ 3Av) (1)

60. One of the following Congress
leaders did not preside any Session
of the Indian National Congress :

(A) Surendranath Bannerjee
(B) Gopala Krishna Gokhale
(C) Bala Gangadhar Tilak
(D) Mahatma Gandhi

61. The first Swadeshi dacoity or robbery
was organised in the year 1906 in
(A) Maniktala
(B) Rangapur
(C) Muzaffarpur
(D) Midnapur

62. Who was called ‘Morning Star’ of
Reformation ?
(A) Martin Luther
(B) John Calvin
(C) Zwingli
(D) John Wycliffe

63. Who used the word ‘Cold War’ first ?
(A) Winston Churchill
(B) Bernard Baruch
(C) Marshal
(D) Stressman

64. ‘Pure Blood Aryan theory’ is related to
(A) Fascism
(B) Nihalism
(C) Syndicalism
(D) Nazism
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65.

66.

67.

68.

69.

70.

What position Nelson Mandela
occupied in the African National
Congress at the time of his release
from jail after 26 years in 1990 ?

(A) President

(B) Vice-President

(C) Secretary

(D) Advisor

What was Marshal Plan ?

(A) Control of European powers
by military power.

(B) To spread of American
Dictatorship in Europe.

(C) Economic package of USA to
control Communism.

(D) American Continent is meant
for Americans only.

A concrete outcome of the Wavell

Plan was the

(A) Constitution of the Constituent
Assembly

(B) Complete independence for
India gradually

(C) Hold a Referendum in the
North-West Province

(D) Summoning of the Shimla
Conference

Which one of the following
Committees was appointed by the
UPSC in 1974 to go into the issue of
recruitment and selection methods ?
(A) Bhagwati Committee

(B) D.S. Kothari Committee

(C) A.D. Gorwala Committee

(D) Santhanam Committee

Who among the following explicitly
states that “History bases all its
conclusions on rational evidence” ?
(A) Herodotus

(B) Thucydides

(C) Polybious

(D) Tacitus

Which one of the following work

was not authored by Leopol von

Ranke ?

(A) History of Rome

(B) History of France

(C) History of the Popes

(D) German History at the time of
Reformation

J-06-12



59.

60.

61.

62.

63.

64.

R 3afTamr & Hetshd & S |/ A
5T 7T T T W IR B =TT HIT
() e foame sifufTem

(i) VRS ATEtEw

(iii) &g Towan gAigamE sty

(iv) TS 3 Hye faer

He :

(A) () (i) @[v) (i)

B) (i) @ G 3Gv)

© @Gv) @) @i 3G

(D) @Gii) (1) @(v) (i)
Fefafad ¥ ¥ S |/ HOEr

TR LT HOF o fohdl A
TATT el & 2

(A) gAY S-S

(B)  TIITGT HUOT Tt

(C) <A TR faeres

(D) T et
Feffad = = § 9 99 1906 9 {69
TIF W YT TR Shell a7 7 & of 2
(A) TR

(B) TMR

(C) TTFRIYX

(D) freTgR

g FUR SR & CHiAT R iRy
T ST & 2

(A) W 2R

(B) S FHieem

(C) Towett

(D) ST+ faforTs

‘Bieg g € B TAN FIH TEA
foram fopam o 2

(A) fogeT atae

(B) TS e

(C) ™A

(D) e

TF T o fagia Fefafed § 9
frag Tafa & 2

(A) AR

(B) FAR

(C) Tafesiersy

(D) AR
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65.

66.

67.

68.

69.

70.

1990 & 26 a9 9% Sl & ReT g4 &

TET MR AYEA HUH T AAET

TSAT TFE Tg W & 2

(A) UdET

(B) @rEH-SHEE

(C) bl

(D) TUeassR

TTRTA ST T off 2

(A) e vl gRT AU vfed W
IEEEW

(B) I T A AHIIET T TTe

(C) UrgarR = FEbd &= & fou
STEIERT T ST UehsT

(D) TR HeTET shaet TR &
fawe |

TS FISTT T ST RO o

(A) Gfaum T HT TS

(B) #R-4R YR I qoT e

(C) TRUNEH Uid H SHH-GUE

(D) TToel TEHE Fer ST

Tt 3R =99 H fafy % 97 W faew

FH F T a9 1974 H HT AE Gar

S FRT (ferad § | 9 9 9itd

Tyt =t 7€ ot 2

(A) Tad 9Eta

(B) EIug. ekt |Efa

(C) TS e affd

(D) TUHw @Hid

fr=ferfiaa & @ e wreedan e & %

“gfeferd % gae frehd Fforada aneat

T I & & 27

(A) wWeRg

(B) eafgeREeN

(C) diterts= g

(D) faew

frefefad wfqal & & =4 9@ $Ha &

g feraarer o Tk et 4 2

(A) T aite T

(B) et 3t whiw

(C) Tt 3w oo

(D) SHA e w T TmEA AT
[EeareNE)
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Read the following passage carefully and
choose the correct answer of the questions
that follow (Q. No. 71to 75) :

Causation is a concept of such
fundamental importance to historical
understanding that E.H. Carr in his G.M.
Trevelyan lectures (1961) declared the
study of history to be the study of causes.
But postmodernist thinking on the issue of
historical causation is different. John
Vincent would abandon the search for
causes as futile and rather look for
explanations. Writing in 1976, Theodore
Zeldin  thought of causation and
chronology as the two tyrants to historians.
Hayden White attacked the concept of
causation as depriving people of both their
freedom of action in the present and of
control over the future by trapping them in
an inescapable network of causation.
Postmodernist theory installs interpretation
in the place of empirical research into the
causes of specific events.

Since the notion of cause depends on
sequential time, some postmodernists
attack the latter too. The cause of an
occurrence must obviously come before it
in time. But the postmodernist historian
and  philosopher, = Ankersmit, says
“Historical time is a recent and highly
artificial invention of Western
civilization,” and the writing of historical
narrative based on the concept of time, he
has declared, is “building on quicksand.”
The postmodernists would prefer that the
idea of sequential time be abandoned in
the writing of history.

Richard Evans shows how the very idea of
postmodern is paradoxical in that it is
contrary to the assertion that there are no
time periods in history. And the
postmodernist statement that historical
time is a thing of the past, itself uses the
historical concept of time which the
statement is intended to dismiss. The
linear and sequential concept of time is far
too powerful a principle to be dispensed
with, for it is not an intellectual construct
but a matter of everyday experience for

people the world over. Time itself may be
without boundaries, but in terms of human
life it passes, and has limits.

71. What is the concept of causation by

E.H. Carr ?

(A) History cannot be understood
devoid of cause-effect
relationship.

(B) History depends on time and
space.

(C) It is a matter of every day

personal experience to inquire
about the basis of an event.

(D) Causes should be undertaken
in totality.
72. What does postmodernist think

about the Historical causation ?

(A) Itis useless to search for it.
(B) It puts limitation on the
Historian.

©
(D)

Interpretation is necessary rather
than the cause-effect relation.
There are different opinions.

73. Which is not the concept of Time
amongst the postmodernists ?
(A) It should not be studied in the
interpretation of History.
(B) It puts forth the theory that the
interpretation of events be
emphasized.

(C) Time deals with past.

(D) The factor of Time has not
been thought of by the
intellectuals.

74. Who amongst the following wrote
that the cause-effect relationship is
an obstacle for History ?

(A) Richard Evans
(B) Ankersmit

(C) E.H. Carr

(D) Theodore Zeldin

75.  Which one of the following said that
the narrative History  writing
considering the Time is like
constructing a building on a weak
foundation ?

(A) Ankersmit

(B) Theodore Zeldin
(C©) Richard Evans
(D) E.H. Carr
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frefefaa e 6t ey @ afge iR A= 71. T U9, ®R & HEAGRT G699 & G0F §

8T 7T oot % W SR 9T (. S 71 9 F faemR & 2
75 ) (A) HHEFRT Ty & o sfeera
UfeTiae THe % foIT SRt @ gt TE THEAT ST T & |

T ol d Hewd 1@l ¢ 1% S, Ta. &R
ST wH. oo™ 9o § e (1961)
fo sfdera &1 3rE=" HRON & eI
T | Wg SR AYHbaEE foars
Afeiiaes SR W = faer T@d & |
S fade & foar & f& sroar =
Gt & gAY 18T itk a8 =AY § 3R
& A W & o 9T | 1976 W
feraa gu faarer sifeed 3 foar fopar &
o Fromar R fatreen sfqeesrt &
forw <t Scditesh € | 837 %R 7 HRUMI
W IRV A gU for@r € % aw
I ° AFE TRaehaTdl i T
qer gfos W FEEor 9 sfea s €
A HROT & AT § HEEAT S | Hieh
FROT FHT W R T €, o0 T
IW YHFHAER W foERi
foRiy d € | o me w wRu
TEATER TAN 99 37T AT | Oig
SR SRR SRS 3T
3R =i o & o 95 & fagia ™
UfqeIiaes 9l @ MU AT HHSIT
g W W w1 HHIT A & 1 S
SMYfehaTaear 1 faar & & giders-
TG | g9 o o st T 341 =T |
e g 3 T ¢ % &9 SW
MY faaR 39 A= &1 Qe &
TR GEa-He W feEt € 1 ST
Y FTeRaTETe! TR S Ufdeasd qHa
e # fowg ¥ 9% wWd 999 &
tferas foemam = uahT = §
T ! TaRERT U iieenent i
3T fova & gued A9l & forg uidfes
% IS F [a9g € | 99 @ 7 o
fopdlt T & BT ey, T A STee
% U § g S&diq gar edr & 3T
AR GHT & |

72.

73.

74.

75.
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(B) gfam%maﬁqurﬁﬁxm
|

(C) e widied = FHa
o & o6 &0 fohdll e & 3MuR
% Ty H U5 A ¢ |

(D) HRUTAT T HYUAT H T =1MeT |

IW SMYFAEE! CfTeTias FRUT &

ey 4 o forem TEd € 2

(A) TEH G FAT AT E |

(B) ¥ TR i THET H STYar ¥ |

(C) ISR Tadi T IF TevTH
AT |

(D) T HaY T e foamur € |

SW SMYHwaEnEA W WEI A

feraeamT & 6t 7 € 2

(A) SOe™ o AR | TR T

Tei fepan ST =ieT |

Tg 39 f9gid W oA a1 € &

TR ol AT o e fodn

ST TIET |

TG T HaY AT D& |

T % 7T W TagHr = foEr T8t

e |

fafatas & ¥ foue a8 fomar & &

FHIHROT Gaie 2feierd & foTT arereh & 2

A) =g zamm

(B) Umfe

(C) 3 WA &R

(D) TErer Sfeed

frfefaa & & fre &e1 & T a0a &

ey W gUERHS  Sde-oiEad U

;ﬂaﬁqﬁawwﬁﬂ‘maﬁﬁ%w

0

(A) U

(B) frrer sifes

(C) T=E o=

(D) IUE. ®R

(B)

©
D)
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